ADR-A %%
EIRIRENhERS

BiZRzE). ThBINSHBETRELESH—0

ZoihETERREE
B (REMEERE

BT F=5 Bk ERE i




ADR110 &#) ADR110-A75 ADR110-A98

EBLER mm 110 110
BESE mm 75 98

e 16 16

SR Nm 1.9 1.9 4.2 4.2
I&E05E Nm 5.8 5.8 12.6 12.6
BAKNEE (IBE-IRE ) Nm 0.0024 0.0024 0.0049 0.0049
JIFEEE Nm/Arms 0.65 0.32 1.40 0.70
REEFNEEE Vpeak/rpm | 0.055 0.028 0.119 0.060
R Arms 3.0 6.0 3.0 6.0
IEERR Arms 9.0 18.0 9.0 18.0
FEfH ¢ ohms 3.20 0.80 4.90 1.21
FEJRk ! mH 17.15 4.29 26.26 6.49
EBSEH ms 5.36 5.36 5.36 5.36
B EEL Nm/SqRt(W) 0.36 0.36 0.63 0.63
RE Kg 2.90 2.90 3.20 3.20
ErFiRE Kgm2 0.0003086 | 0.0003086 | 0.0004419 | 0.0004419
230VER KHETFIETR rpom 4,887 10,294 2,146 4,665
MS-12000 Y& E5Ri0es lines 12,000 12,000 12,000 12,000
MS-12000 St 4mh3es (40X) Counts/rev 480,000 480,000 480,000 480,000
HERERSRE (B F MS-12000, 40X) arc sec +/-20 +/-20 +/-20 +/-20
BERE (EFMS-12000, 40X) arc sec +/-2.7 +/-2.7 +/-2.7 +/-2.7
ihm / RmEka) um 15 (10,5) 2

AT N 700 700
BRAIFEETT Nm 20 20

ADR135 &#) ADR135-A9 -All15

EBLER mm 135 135
BilSE mm 90 115

e 16 16

SR Nm 5% 5.2 11.0 11.0
I&E05E Nm 155 15.5 329 329
BRAEEDE (IBE-IEE ) Nm 0.010 0.010 0.022 0.022
JIFEEE Nm/Arms 1.72 0.86 3.66 1.83
REEFNEEE Vpeak/rpm |  0.147 0.074 0313 0.156
R Arms 3.0 6.0 3.0 6.0
IEEER Arms 9.0 18.0 9.0 18.0
EBfH * ohms 6.60 1.65 10.70 2.70
FEJRk ! mH 45.30 11.20 72.76 18.63
S EEA ms 6.86 6.79 6.80 6.90
B EEL Nm/SqRt(W) 0.67 0.67 1.12 111
RE Kg 4.80 4.80 4.90 4.90
ErFiRE Kgm2 0.000992 0.000992 0.001332 0.001332
230VERAHEFER rpm 1,636 3,676 651 1,608
MS-12000 Y& E5Ri0es lines 12,000 12,000 12,000 12,000
MS-12000 === 4mh3es (40X) Counts/rev 480,000 480,000 480,000 480,000
HERRRSREE (B MS-12000, 40X) arc sec +/-20 +/-20 +/-20 +/-20
BERE (EFMS-12000, 40X) arc sec +/-2.7 +/-2.7 +/-2.7 +/-2.7
ihm / REbkan um 15 (10,5) 2

AP N 1,050 1,050
BRAIFEETT Nm 35 45
1. RigERig, 25 BEE
2. Tk

14

q Akribis



ADR175 &#] ADR175-A102 ADR175-A138

EBLER mm 175 175
BESE mm 102 138
REL 16 16

SR Nm 15.7 15.7 329 329
IEED%E Nm 47.2 47.2 98.6 98.6
BAKNEE (IBE-IRE ) Nm 0.094 0.094 0.197 0.197
JIFEEE Nm/Arms 3.93 1.97 8.22 411
RESEAEE Vpeak/rpm |  0.336 0.168 0.703 0.351
R Arms 4.0 8.0 4.0 8.0
IEERR Arms 12.0 24.0 12.0 24.0
EBfH * ohms 5.27 1.30 8.30 213
FEJRk ! mH 4572 11.27 72.00 18.51
FBSEHH ms 8.67 8.67 8.67 8.67
EEHLEEL Nm/SqRt(W) 171 1.72 2.85 2.81
RE Kg 8.5 8.5 12.7 12.7
ErFiRE Kgm2 0.005422 0.005422 0.007621 0.007621
230VERAHFER rpm 704 1,600 285 708
MS-16384 SiEi E5RSes lines 16,384 16,384 16,384 16,384
MS-16384 StEHF RIS (40X) Counts/rev 655,360 655,360 655,360 655,360
TR (23 MS-16384, 40X) arc sec +/-25 +/-25 +/-25 +/-25
BERE (HEFTMS-16384, 40X) arc sec +/-2.0 +/-2.0 +/-2.0 +/-2.0
) / 1=2mBkED um 20 (15,10) 2

AT N 2,310 2,310
ERASFEELT Nm 53 63

ADR220 &#4 ADR 1 -Al165

EBLER mm 220 220
BESE mm 120 165

W 24 24

SR Nm 46.0 46.0 94.9 949
IEED%E Nm 1379 1379 284.6 284.6
BRAWIENRE (IEE- 188 ) Nm 0.357 0.357 0.736 0.736
JIREEE Nm/Arms 8.51 2.84 17.57 5.86
RES A EE Vpeak/rpm |  0.728 0.243 1.502 0.501
R Arms 5.40 16.20 5.40 16.20
(BRI Arms 16.20 48.60 16.20 48.60
EBfH * ohms 5.87 0.74 10.32 1.20
FBJRk 1 mH 53.60 6.30 106.70 11.90
BESEE ms 9.13 8.51 10.34 9.92
EEHLEEL Nm/SqRt(W) 3.51 3.30 5.47 5.35
RE Kg 18.3 18.3 24.1 241
ErFiRE Kgm2 0.017858 0.017858 0.025216 0.025216
230VEKHEFRIER rpm 282 1,089 88 483
MS-16384 SiEi E5RSes lines 16,384 16,384 16,384 16,384
MS-16384 StEHF RIS (40X) Counts/rev 655,360 655,360 655,360 655,360
FERRERE (BT MS-16384, 40X) arc sec +/-25 +/-25 +/-25 +/-25
BERE (HEFTMS-16384, 40X) arc sec +/-2.0 +/-2.0 +/-2.0 +/-2.0
) / 1=2mBkED um 25 (10) 2

AP N 2,800 2,800
BRAJIFEEAT Nm 72 95

1. RigZERE, 25 BKE.
2. ok

q Akribis

15




ADR360 &#] ADR360-A150 ADR360-A215
EBLER mm 360 360
ESE mm 150 215
REL 32 32
BEa5e Nm 184.8 184.8 3779 3779
&5 Nm 5545 554.5 1133.8 1133.8
BRAWENRE (IEE- 188 ) Nm 198 1.98 4.09 4.09
JIFEEE Nm/Arms 18.48 9.24 37.79 18.90
REERNEBEL Vpeak/rpm 1.580 0.790 3.231 1.616
BHEER Arms 10.00 20.00 10.00 20.00
IE{EEETR Arms 30.00 60.00 30.00 60.00
EEfH * ohms 3.05 0.76 5.26 1.25
= mH 31.70 7.92 5474 13.00
S EHA ms 10.40 10.40 10.40 10.40
EBHLE L Nm/SqRt(W) 10.59 10.59 16.47 16.90
& Kg 56.0 56.0 71.0 71.0
EFIEE Kgm?2 0.204636 | 0.204636 | 0.322304 | 0.322304
230VERAMEFRIR rpm 132 322 44 139
A15VERKIEFREIR rpm 314 685 133 317
MS-23049 S#iEi E5R5es lines 23,049 23,049 23,049 23,049
MS-23049 St Eir=imiBas (40X) Counts/rev 921,960 921,960 921,960 921,960
EREE (B3 MS-23049, 40X) arc sec +/-30 +/-30 +/-30 +/-30
BERBE (HFMS-23049, 40X) arc sec +/-1.5 +/-1.5 +/-1.5 +/-1.5
A / 1Z2mBkad um 40 (15) 2
AR AT N 11,200 11,200
BRASIFEEAT Nm 245 245
1. BigEXRig, 25 BEE
2. ok

ADR110-A75

0.0 THRU

10.0 H7 8.0

16

Motor Cables: /
Standard length= Smerres r
- Power cable = @7
- Signal cable = @ 5. 0 /
- Encoder cable = ©4.0



ADR110-A98

8 x M4x0.7

on PCD 26.0

2x D 4.0 H77 6.0
on PCD 35.0

ADR135-A90

8 x M4x0.7 I 8.0
on PCD 47.0

8.0
6 x M4x0.7 ' 8.0
on PCD 40.0

8 x M5x0.8 J12.0
on PCD 112.0

v 8.0
on PCD 47.0

D150THRU
$150H7 T10.0 /

©135.0

. 2x Grease
Holes

©110.0

0.00

0.00
©72.0-0.05

©90.0 -0.05 _

[

98.0

5.5

I —

0.00
$62.0 -0.05| _

6 x M5x0.8 v 10.0
on PCD 78.0

Motor Cables:

Standard length=3metres
- Power cable = 7.5

- Signal cable = ©5.0

- Encoder cable = @ 4.0

8 }M5Ex0:8wi 10.0
on.PCD88.0

Motor Cables:

Standard length=3metres
-Power cable = @7.5

- Signal cable = ©5.0

- Encoder cable = © 4.0




ADR135-A115

118.0
8 x M4x0.7 I 8.0 8 x M5x0.8 & 12.0 [~ =
onPCD47.0 onPCD 112.0 7 115.0 Y 8 x M5x0.8 T 10.0
\ ' = on PCD 88.0
4.0
2x @ 40H7 T
v 8.0 .
on PCD 47.0 ]
o w ow
o o oo
Cloo oo
I ;
I o o - - - b o
[ o ™
S g 3
1o . I
' i
2x Grease |
PISOTHRU \__ Holes | S
©15.0H7 7 10.0 / TU
Motor Cables:
Standard length=3metres
- Power cable = $7.5
- Signal cable = $ 5.0
- Encoder cable = 4.0
ADR175-A102
105.0
8XM5x0.8 T 10.0 8 xM5x0.8 I 12.0 [
on PCD 80.0 ) on PCD 150.0 — 102.0 | 30 8 x M5x0.8 ¥ 10.0
\ : 40 ~on 2GR 125.0
2x @ 5.0H7 == :
T 10.0
on PCD 80.0 l
i y
QW oW
S0 1=
ol oo co
= ;
M~ o o
l b o g
3 ™ =]
53 =
T
. [}
1 iy
Ny 30.0 THRU , 2x Grease i )
2 30.0 H7  10.0 /

1 r
AN Holes W

Motor Cables:

Standard length=3metres
-Power cable = 08,5

- Signal cable = @ 5.0

- Encoder cable = 4.0

- q Akribis



ADR175-A138

8 x M5x0.8 % 10.0 8 x M5x0.8 ¥ 12.0
on PCD 80.0 on PCD 150.0
2% @ 50H7
I 10.0
[

on PCD 80.0

D175.0

0 30.0 THRU

$30.0H7 ¥ 100 / 2x Grease

Holes

\

ADR220-A120
8 x M5x0.8 ' 10.0 8 x Méx1.0 ' 15.0
on PCD 98.0 on PCD 190.0
2x ¢ 5.0H7
10.0

on PCD 98.0

©30.0 THRU

»30.0H7 T 10.0 2x Grease

Holes

0.00

?128.0 -0.05

4.0

»220.0

0.00

»160.0 -0.05

3.0 8 x M5x0.8 1 10.0
onPCD 1250
| =22.50
o w
=x=!
=29
o
o
=4
Motor Cables:

0

155 | |
| W S v,
1200 .30
40
o
o
S

16.5,

—]

©120.0 -0.05 __|

Standard length=3metres
- Power cable = $8.5

- Signal cable = 5.0

- Encoder cable = $ 4.0

8xMéx1.0 7712.0

on PCD 150.0
F ——

ny

Motor Cables:

Standard length=3metres
- Power cable = $10.0

- Signal cable = 5.0

- Encoder cable = @ 4.0




ADR220-A165

8 xM5&x0.8 ¥ 10.0
on PCD 98.0
2x O 5.0H7
v 10.0

on PCD 98.0

\

?30.0H7 7100 /

ADR360-A150

8xMéx1.0 7 12.0
on PCD 162.0

@ 30.0 THRU

Holes

8x'M8x1.25 16.0
on PCD 320.0

T 10.0
on PCD 162.0.

@ 60.0 THRU
£ 60.0H7 ¥ 10.0 /

0.00

©360.0
©282.0 -0.05

30

0.00

$220.0 -0.05

20

_ 148.0 .
8xMéx1.0 % 150
) 165.0 _ 30
onPCD 1900 oI 8 x Méx1.0 7 12.0
|40 onPCD 1500 _7:_22__5_?
o wn o L{;
=y=! =y=!
ol co oo
o ' :
o™ o R - SN | — o
ST g
- o
2x Greqse =

Motor Cables:

Standard length=3metres
- Power cable = (10.0

- Signal cable = @ 5.0

- Encoder cable = @ 4.0

8 x M8x1.25 1 16.0
ORRCDI2600

Moter Cables:

Standard length=3metres
- Power cable = @ 10.5

- Signal cable = $5.0

- Encoder cable = @ 5.0




ADR360-A215

218.0

215.0

3.0

0.00

2900 -0 05
2200 -0.05

Motor Cables: !

Standard length=3metres |

-Powercable= $105 /

- Signal cable = ¥50

- Encoder cable = 9 5.0 /

NI
B BS BHEX [REERESE| Sk | wmESEE | AEAS Bezh

ADR110 A75/A98 MS-12000 P15/P10/P5
ADR135| A90/Al115
ADR175| Al102/A138 S/P J/K 3.0 MS-16384 SINCOS/40X P20/P15/P10
ADR220 | A120/A165 P25/P10
ADR360 [ A150/A215 MS-23049 P40/P15

P20 = iEBkEh 20um, EmEEkE) 20um
P15 = HABks) 15um, 2@EEEED 15um
P10 = @Bz 10um, 2@EBEEN 10um

P5 = ifm@bkah Sum, REBEE Sum

J- {BiEss

K- PT100 (RTD)

=l

q Akribis

ADR175-A138-S-J-3.0-MS-16384-40X-P10

21




HALL CABLE
Pin | Description | Color

1 HA Green
2 HB Yellow
3 HC Grey
4 +5VDC | Brown THERMAL SENSOR WIRE
MICROE - M1500 (DIGITAL) s ovDC | White {Tipe - THERmosTaT)
pin | Description 8 TS+ Pink :I/ﬁ
12 +5VDC 9 TS- Blue
5 A+
4 A- HALL
10 B+ e /
9 B- DSUB 9 PINS
14 Z+ {MALE)

15 Z-

13 ovDC ENCODER
MICROE - M1000 (ANALOGUE)

pin | Description

DSUB 15 PINS

12 +5VDC (MALE)

8 SIN+

15 SIN-

7 COs+

14 Cos-

2 Z+

1 z-

MOTOR CABLE

13 ovDC

10l.co
P SREL

- QAknbus



